

$$Q$$
: What is Esp?
Lask at the horizontal displacement (assuming small angles) of the connection point
 $X = a \sin \Theta$ Z If $\Theta = 0$ is the equil., then this is the G of the pring
 $F_{SP} = kG = ka \sin \Theta$

$$\underline{Q}$$
: Where should up sum moments about?
Point O - pure notation about $O(\overline{q}_0=0)$ and $\overline{r}_{R_0}=0$ so reactions don't contribute



From here, we could linearize as before

Lagrange's Method with Viscous Damping

Remember that $F_D = Cd$ where d is the rate of change of the length of the comper To match the form needed for Logrange (remember, it's energy-based), integrale with respect to d $SF_D dd = S(cd) dd = \frac{1}{2}cd^2 \leftarrow Looks similar to Usp, right?$ Rayleigh's Dissipation Function (RD) as: $RD = \frac{1}{2}cd^2 \leftarrow Note: Only valid for linear, viscous dampers$

Use this to represent the compar in Logrange's Equations:

 $\frac{d}{dt}\left(\frac{\partial L}{\partial \dot{q}_{L}}\right) + \frac{\partial RD}{\partial \dot{q}_{L}} - \frac{\partial L}{\partial \dot{q}_{L}} = 0 \quad \text{for } \dot{c} = J_{n}, n \quad \text{evend forces.}$

Lagrange's Method with External Forces

To understand external forces, we need to introduce...

Virtual Displacements

- * Infinitesimally small changes in generalized coordinates
- * Occur in zero time (no time elapses during the move)
- * Do not violate system constraints

Principle of Virtual Work

$$\begin{aligned} \mathcal{J}W &= \underbrace{\leq} F_{3} \cdot \partial F_{3} + \underbrace{\leq} M_{h} \cdot \partial \Theta_{h} \\ &= \underbrace{\leq} F_{3} \cdot \partial F_{3} + \underbrace{\leq} M_{h} \cdot \partial \Theta_{h} \\ &= \underbrace{\leq} F_{3} \cdot \partial F_{3} = uirtual attices of body an ulnich M_{h} acts \\ &= \underbrace{\leq} F_{3} \cdot \partial F_{4} = uirtual rotation of body an ulnich M_{h} acts \\ &= \underbrace{\leq} F_{3} \cdot \partial F_{4} + \underbrace{>} H_{h} \cdot \partial F_{h} \\ &= \underbrace{\leq} F_{2} \cdot \partial F_{4} + \underbrace{>} H_{h} \cdot \partial F_{h} \\ &= \underbrace{\leq} F_{2} \cdot \partial F_{h} + \underbrace{>} H_{h} \cdot \partial F_{h} \\ &= \underbrace{>} F_{2} \cdot \partial F_{h} + \underbrace{>} H_{h} \cdot \partial F_{h} \\ &= \underbrace{>} F_{2} \cdot \partial F_{h} + \underbrace{>} H_{h} \cdot \partial F_{h} \\ &= \underbrace{>} F_{2} \cdot \partial F_{h} + \underbrace{>} H_{h} \cdot \partial F_{h} \\ &= \underbrace{>} F_{2} \cdot \partial F_{h} + \underbrace{>} H_{h} \cdot \partial F_{h} \\ &= \underbrace{>} F_{2} \cdot \partial F_{h} + \underbrace{>} H_{h} \cdot \partial F_{h} \\ &= \underbrace{>} F_{2} \cdot \partial F_{$$

An Even-Less-Simple Example (Ex. 1.14-1.15)



Now, form the energies, then the Lograngian

(or 3my, J2)

$$\begin{array}{c} \mathbf{x} \\ \mathbf{$$

$$T = \frac{1}{2}m_{1}\dot{x}^{2} + \frac{1}{2}m\left[\left(\dot{x} + l\theta\cos\theta\right)^{2} + \left(l\theta\sin\theta\right)^{2}\right] \quad \leftarrow \quad \text{Total kinetic energy}$$

$$V = V_{gr} + V_{sp} \qquad \qquad V_{gr} = m_{gh}c_{ss}\theta \quad \text{ond } V_{sp} = \frac{1}{2}kx^{2}$$

$$V = -m_{g}lc_{ss}\theta + \frac{1}{2}kx^{2} \quad \leftarrow \quad \text{Total potential energy}$$

$$L = T - V \quad \leftarrow \quad \text{Lagrangian}$$

Q What about the external force, f(+)? < We have to find the Qi terms for Lagrange's Eq. To do so, we'll use virtal displacements and virtual work To do so, well use virtal displacements and virtual work This is the point the force is applied will We know that $\overline{V}_2 = (\dot{x} + l\dot{\Theta} cos \Theta)\overline{I} + (l\dot{\Theta} sin \Theta)\overline{Z} \iff U \cdot k$ this velocity to figure at the virtual displacements. $\frac{d\overline{L}_2}{dt} = (\frac{dx}{dt} + l\frac{d\Theta}{dt} cos \overline{D})\overline{I} + (l\Theta sin \Theta)\overline{Z} \iff u \cdot k$ the virtual of the virtual \overline{C}_2 is the figure of the virtual \overline{C}_2 is the virtual \overline{C}_2 is the figure of the virtual \overline{C}_2 is the figure of the virtual \overline{C}_2 is the virtual \overline{C}_2 $\int \overline{r_2} = (\int x + \int \partial \cos \theta) \overline{I} + (\int \partial \sin \theta) \overline{J} \leftarrow \text{virtual displacement of } m$

An Even-Less-Simple Example (cont.)

To find
$$\hat{Q}_{i}$$
, we need to find the virtual work done by the force $(= \text{Force} \cdot \text{Virtual displacement})$
 $\int W = f \overline{I} \cdot \int \overline{F_{2}} = f \overline{I} \cdot \left[(\int x + l \int \partial \cos \theta) \overline{I} + (l \int \theta \sin \theta) \overline{J} \right] = F(\int x + l \int \theta \cos \theta)$
 $\int W = F \int x + (Fl \cos \theta) \int \theta$
 $\hat{Q}_{i} \cdot \hat{Q}_{i} \cdot \hat{Q}_{i} = \hat{Q}_{i}$
 $\hat{M}_{a} \cdot \hat{Q}_{i} \cdot \hat{Q}_{i} = \hat{Q}_{i}$
 $\hat{M}_{a} \cdot \hat{Q}_{i} \cdot \hat{Q}_{i} = \hat{Q}_{i}$

$$\begin{aligned} \underline{Q}_{1} = \underline{X} \\ \frac{d}{dt} \left(\frac{\partial L}{\partial \underline{X}} \right) - \frac{\partial L}{\partial \underline{X}} = Q_{1} \\ \frac{\partial L}{\partial \underline{X}} = -\underline{M}_{1} \underbrace{X} + \frac{1}{\partial m} \left[\partial (\underline{x} + \underline{y} \underline{0}_{00} \underline{\theta}) \right] \\ \frac{d}{dt} \left(\frac{\partial L}{\partial \underline{X}} \right) = M_{1} \underbrace{X} + m \left(\underbrace{X} + \underline{y} \underline{0}_{00} \underline{\theta} - \underline{1} \underbrace{\theta}_{2} \underline{x}_{1} \underline{\theta} \right) \\ (\underline{M}_{1} + \underline{m}) \underbrace{X} + \underline{M}_{1} \underbrace{\theta}_{00} \underline{\theta} - \underline{M}_{1} \underbrace{\theta}_{0} \underbrace{\theta}_{2} \underline{x}_{1} \underline{\theta} + \underline{k} \underline{x} = F \end{aligned}$$

$$\begin{aligned} q_{2} = O \\ \frac{d}{dt} \left(\frac{\partial L}{\partial \Theta} \right) - \frac{\partial L}{\partial \Theta} = Q_{2} \\ \frac{\partial L}{\partial t} = \frac{1}{2}m \left[2(\dot{x} + \dot{U} \otimes \Omega)(\dot{U} \otimes \Theta) + 2(\dot{U} \otimes \sin \Theta)(\dot{U} \otimes \Omega) \right] \\ = m \left[2(\dot{x} + \dot{U} \otimes \Omega)(\dot{U} \otimes \Theta) + 2(\dot{U} \otimes \sin \Theta)(\dot{U} \otimes \Theta) \right] \\ \frac{d}{\partial t} \left(\frac{\partial L}{\partial \Theta} \right) = m(\dot{U} \otimes \Omega \otimes \dot{U} + \theta \otimes \dot{U} \otimes \dot{U} \\ \frac{d}{\partial t} \left(\frac{\partial L}{\partial \Theta} \right) = m(\dot{U} \otimes \Omega \otimes - \dot{U} \otimes \Theta \otimes \dot{U} + \theta \otimes \dot{U} \otimes$$

 $ml^{2}\ddot{\Theta} + ml\ddot{x}cos\Theta + mglsin\Theta = flcos\Theta$